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Home Learning – Year 6
Week 4 – Answers
Daily Arithmetic Answers:
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Day 1 Investigation:
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Magic Squares Answers
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For the four fours, the most popular answer is:
4-4+4=4a4,
but we you could also have 44x4+4=44

For the five fives, answers include
(5x5)+(5x5)+5

and 5+5+5+5x5

and for six sixes, answers include
66-6+6—-6+6

and (6+6)x6+6-6-6
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Buzzle time
CP
Head over tails - answer

Remember what you had to do: tum any three coins over
at a time. How many moves will it take to get all the coins
as heads?

The answer is 4, like this:

Move 1: ‘ l. I. (©)
0000
Move 3: ‘...
Move 4: ‘ ‘ ® ‘
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It all adds up to nothing!! - answers.

Remeroer wha s puzzl was?
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Lols of answers to this - here are just four It seems the 0
must always be n the midcll. How many more can you
fna?
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